
PROFESSIONAL EXAMINATION BOARD
Police Constable Recruitment Test ­ 2016

31st July 2016, 12:00 PM
Topic:­ General and Logical Knowledge
1)

Question Stimulus :­

The National Museum that houses art objects dating from pre historic era onwards, functions under _____ ,
Government of India. / राױ├ीय स╣ंहालय जो पवू└ ऐितहािसक यगु की कला वּהओु ंका स╣ंह ____ भारत सरकार, के तहत
करता ह।ै

Ministry of Tourism / पय└टन म╨ंालय

Ministry of Science & Technology / िवŵान एव ं▀ौϋोिगकी म╨ंालय

Ministry of Culture / सृंַאित म╨ंालय

Ministry of Commerce & Industry / वािणǿ एव ंउϋोग म╨ंालय

Correct Answer :­Ministry of Culture / सृंַאित म╨ंालय 

2)

Question Stimulus :­

In which district is the Waiganga canal? / िकस िजल ेम┼ वनैगगंा नहर ह?ै

Barna dam / बारना बाधं

Balaghat District / बालाघाट िजले

Vidhsha District / िविदशा िजले

Raisen District / रायसने िजले

Correct Answer :­Balaghat District / बालाघाट िजल े

3)

Question Stimulus :­

Select the option, which is the logical equivalent of the statement given below: / वह िवकֽ
चिुनए,जो तक└ की ۴िױ स ेनीच ेिदए गए कथन के समान ह ै:

If you exercise daily, then you will be healthy. / यिद आप ▀ितिदन יायाम  करत ेह╒, तो आप तदं╛ּה
होगं।े

If you are not healthy, then you haven’t exercised daily. / यिद आप तदं╛ּה नही ंह╒, तो



आपन े▀ितिदन יायाम नही ंिकया ह।ै

If you are healthy, then you have exercised daily. / यिद आप तदं╛ּה ह╒, तो आपन े▀ितिदन
ायाम िकया ह।ैי

If you don’t exercise daily, then you will not be healthy. / यिद आप ▀ितिदन יायाम नहीं
करत ेह╒, तो आप तदं╛ּה नही ंहोगं।े

If you exercise daily, then you will not be healthy. / यिद आप ▀ितिदन יायाम करत ेह╒, तो
आप तदं╛ּה नही ंहोगं।े

Correct Answer :­If you are not healthy, then you haven’t exercised daily. / यिद आप
तदं╛ּה नही ंह╒, तो आपन े▀ितिदन יायाम नही ंिकया ह।ै 

4)

Question Stimulus :­

FM broadcasting is radio broadcasting using ________ technology. / एफएम ▀सारण रेिडयो ▀सारण ह ैजो
____▀ौϋोिगकी का उपयोग करता ह।ै

Free Movement / म♣ु सचंलन

Frequency Modulation / आविृत का उतार ­ चढ़ाव

Frequency Movement / आविृत गित

Free Motion / म♣ु गित

Correct Answer :­Frequency Modulation / आविृत का उतार ­ चढ़ाव 

5)

Question Stimulus :­

Six persons A,B,C,D,E and F were playing a card game. A’s father, mother and uncle were
in the group. There were two females. B, the mother of A got more points than her
husband. D got more points in the game than E but less than F. Niece of E got the lowest
points. Father of A got more points than F but still could not win the game. / छह יε♣
A,B,C,D,E और F एक ताश का खले खले रह ेथ।े समहू म┼ A के िपता, माता और चाचा थ।े दो मिहलाएं थी। B, A की माता
को अपन ेपित स ेदो अकं अिधक ▀ाЧ ╟ए। खले म┼ D को E स ेअिधक पर F स ेकम अकं ▀ाЧ ╟ए। E की भाजंी को सबसे
कम अकं ▀ाЧ ╟ए। A के िपता को F स ेअिधक अकं ▀ाЧ ╟ए पर िफर भी वह खले नही ंजीत पाय।े

Who is the husband of ‘B’? / ‘B’ क◌ा पित कौन ह?ै

F

E

D



C

Correct Answer :­E 

6)

Question Stimulus :­

Who is the recipient of the Sahitya Akademi award for Hindi poetry for the year 2015? / साल 2015 म┼ िहन ्दी
किवता के िलय ेसािहतय् अकादमी परुַאार ▀ापत् करन ेवाल ेकौन ह╒?

Ramdarash Mishra / रामदरश िम▓

Dhian Singh / Єान िसहं

Ram Shankar Awasthi / राम शकंर अवэथी

Brajendra Brahma / █जДे █ֿפा

Correct Answer :­Ramdarash Mishra / रामदरश िम▓ 

7)

Question Stimulus :­

Duladeo Temple is located at_____. / दलुादवे मिंदर _____ म┼ εэथत ह।ै

Wasvi / वासवी

Antri / आतंरी

Khajuraho / खजरुाहो

Sadalpur / सदलपरु

Correct Answer :­Khajuraho / खजरुाहो 

8)

Question Stimulus :­

In column I are listed certain groups of individuals while in column II are listed some of
the characteristics against each group of individuals which are common to each member of
that group. / ּהभं I िविशי ױε♣गत समहूो ंको सिूचत करता ह,ैजब िक ּהभं II हर יε♣यो ंके समहू कुछ
िवशषेताओ ंको सिूचत करता ह ैजो उस समहू के हर एक सदּק के िलए सामाР ह।ै   

 

Column IColumn II
FHIJ TW
IJK PT
IJLM SUW



IJLM SUW
GHIKM RY
GHI QRV
FGI PR
HIJ QTW
IJL QSUM
GIJ PQS

 

Which characteristics are common to H and J but are not in K? / कौन  सी िवशषेताएँ H और J म┼
समान ह╒,परंत ुK म┼ नही?ं

P,Q

Q,R

Q,W

R,W

Correct Answer :­Q,W 

9)

Question Stimulus :­

In the following question, some group of letters is given, all of which, except one, share a
common similarity while one is different. Choose the odd one out. / िनђ ▀ע म┼, कुछ शоो ंके
समहू िदय ेगय ेह╒, जो सभी, केवल एक को छोड़कर, समान ह╒ जबिक एक अलग ह|ै िवषम वाल ेको चिुनय े|

A

O

U

Y

Correct Answer :­U 

10)

Question Stimulus :­

Which of the following is the world famous mineral region of India? / िनђिलεखत म┼ स ेकौन भारत का िवק ▀िसο
खिनज ā╨े ह?ै

Shillong Plateau / िशलागं पठार

Malwa Plateau / मालवा पठार



Chhotanagapur Plateau / छोटानागपरु पठार

Deccan Plateau / द☺न के पठार

Correct Answer :­Chhotanagapur Plateau / छोटानागपरु पठार 

11)

Question Stimulus :­

If the bread is toasted and mayonnaise is spread on it then either I will go hungry or I
will have acidity. I am hungry so the bread was not toasted  यिद █डे को टोּד िकया जाता है
और उस पर मयेोनज़े लगाया जाता ह ैतो या तो म╒ भखूा रह जाऊंगा या मझु ेएिसिडटी हो जायगेी। म╒ भखूा ╠ ँइसिलए
█डे को टोּד नही ंिकया गया था

True / सही

False / गलत

Maybe / हो सकता है

Irrelevant / अ▀ासिंगक

Correct Answer :­Maybe / हो सकता ह ै

12)

Question Stimulus :­

He was Jehangir’s son / य ेजहागंीर का प╨ु था।

Shah Jahan / शाहजहाँ

Aurangzeb / औरंगज़बे

Akbar / अकबर

Babur / बाबर

Correct Answer :­Shah Jahan / शाहजहा ँ

13)

Question Stimulus :­

Select the option that is true about the Statements and Conclusions given: / वह िवकֽ चिुनए
जो िदए गए कथनो ंएव ंिनתष╗ के बारे म┼ सही ह।ै

Statements:  / कथन:

All papers are sheets  /  सभी कागज प╨क  ह╒



All sheets are books  /  सभी प╨क िकताब┼ ह╒

Conclusions:  /  िनתष└:

I. All papers are books  /  I. सभी कागज िकताब┼ ह╒

II. All books are papers  /  II.  सभी पुּהक┼ कागज ह╒

Only conclusion I follows / केवल िनתष└ I िनकलता है

Only conclusion II follows / केवल िनתष└ II िनकलता है

Both conclusion I and II follows / दोनो ंिनתष└ I और II िनकलत ेह╒

None of the conclusion I or II follows / िनתष└ I या II म┼ स ेकोई  नहीं
िनकलता है

Correct Answer :­Only conclusion I follows / केवल िनתष└ I िनकलता ह ै

14)

Question Stimulus :­

This person was awarded the Nobel prize for his work in economics. / इस יε♣ को अथ└शाּז म┼ अपन ेकाम के
िलए नोबले परुַאार स ेसњािनत िकया गया था।

Amartya Sen / अमέ└ सने

Har Gobind Khorana / हर गोिबदं खोराना

Venkatraman Ramakrishnan / व┼कटरमण रामकृСन

Subrahmanyan Chandrashekhar / स█ुֿפΔम च╪ंशखेर

Correct Answer :­Amartya Sen / अमέ└ सने 

15)

Question Stimulus :­

How many temples did the Chandelas build at Khajuraho? / चГलेो ंन ेखजरुाहो म┼ िकतन ेमिंदर बनवाए?

85

74

65

22



Correct Answer :­85 

16)

Question Stimulus :­

Which Bharat Ratna awardees has written the book “The First Decade and After”? / भारत रΤ सњािनत िकस
?िडकेड एंड आгर" िकताब िलखी └דε♣ न े"िद फּי

PD Tandon / पी डी टडंन

Chidambaram Subramaniam / िचदѕरम ्स█ुֿפΔम्

Gulzari Lal Nanda / गलुज़ारी लाल नदंा

APJ Abdul Kalam / एपीज ेअоलु कलाम

Correct Answer :­Chidambaram Subramaniam / िचदѕरम ्स█ुֿפΔम ्

17)

Question Stimulus :­

The President of India is elected by / भारत के राױ├पित इनके ύारा चनु ेजात ेह।ै

Member of the Lok Sabha and Rajya Sabha / लोक सभा और राǿ सभा के सदּק

Members of state assemblies / राǿ िवधानसभाओ ंके सदּק

Members of the state legisla촀딀ve councils / राǿ िवधान पδरषदो ंके सदּק

All of the above / ऊपर के सभी।

Correct Answer :­All of the above / ऊपर के सभी। 

18)

Question Stimulus :­

The Dandi march was part of the / दाडंी या╨ा िकसका िहֹוा था?

Quit India Movement / भारत छोड़ो आदंोलन

Khilafat Movement / εखलाफत आदंोलन

Civil Disobedience Movement / सिवनय अवŵा आदंोलन

Non Cooperation Movement / असहयोग आदंोलन

Correct Answer :­Civil Disobedience Movement / सिवनय अवŵा आदंोलन 



19)

Question Stimulus :­

Who founded the Mamluk dynasty? / मќकु वशं की эथापना िकसन ेकी थी?

Ibhrahim Lodi / इ█ािहम लोदी

Balban / बलबन

Qutub­ud­din / कुतबुνुीन

Rukn­ud­din­Firuz / ╜कुनνुीन फ़ीरोज़

Correct Answer :­Qutub­ud­din / कुतबुνुीन 

20)

Question Stimulus :­

What is the day on 1 June 2080? / 1 जनू 2080 को कौन सा िदन ह?ै

Monday / सोमवार

Tuesday / मगंलवार

Saturday / शिनवार

Thursday / ग╛ुवार

Correct Answer :­Saturday / शिनवार 

21)

Question Stimulus :­

Which of the following belongs to the same family as Desire, Wish, and Want? / िनђ म┼ स ेकौन स ेउसी पδरवार स ेसबंोिधत
ह╒ िजनस ेिक इŜा, तमКा, और चाहत?

Pleasant / सखुद

Feel / ּמश└

Anxiety / उγकुता

Sa촀딀sfy / सतंुױ करना

Correct Answer :­Anxiety / उγकुता 



22)

Question Stimulus :­

Select the option, which is the logical equivalent of the statement given below: / वह िवकֽ
चिुनए,जो तक└ की ۴िױ स ेनीच ेिदए गए कथन के समान ह ै:

If Ravi works hard, then he can go to Singapore. / अगर रिव कड़ी महेनत  करता ह,ै तो वह िसगंापरु जा
सकता ह।ै

If Ravi didn’t work hard, then he cannot go to Singapore. / अगर रिव न ेकड़ी महेनत नही ंकी,
तो वह िसगंापरु नही ंजा सकता।

If Ravi had gone to Singapore, then he had worked hard. / अगर रिव िसगंापरु गया ह,ै तो
उसन ेकड़ी महेनत की थी।

If Ravi had not gone to Singapore, then he didn’t worked hard. / अगर रिव िसगंापरु नहीं
गया ह,ै तो उसन ेकड़ी महेनत नही ंकी थी।

If Ravi works hard, then he cannot go to Singapore. / अगर रिव कड़ी महेनत करता ह,ै तो वह
िसगंापरु नही ंजा सकता ह।ै

Correct Answer :­If Ravi had not gone to Singapore, then he didn’t worked hard. / अगर
रिव िसगंापरु नही ंगया ह,ै तो उसन ेकड़ी महेनत नही ंकी थी। 

23)

Question Stimulus :­

Mahe, which is situated on the Malabar coast on the Western Ghats, is a part of :/ माह,े पिמमी घाट पर मालाबार
तट पर εэथत ह ैजो ___ का एक िहֹוा ह।ै

Kerala / केरल

Maharashtra / महाराױ├

Puducherry / पडुचुरेी

Tamil Nadu / तिमलनाडु

Correct Answer :­Puducherry / पडुचुरेी 

24)

Question Stimulus :­

Select the option that is true about the Statements and Conclusions given: / वह िवकֽ चिुनए
जो िदए गए कथनो ंएव ंिनתष╗ के बारे म┼ सही ह।ै

Statements: /  कथन:



All pillars are walls  /  सभी ּהभं दीवार┼ ह╒

All walls are houses  /  सभी दीवार┼ घर ह╒

Conclusions: /  िनתष└:

 I. All houses are pillars  / I.  सभी घर ּהभं ह╒

II. All pillars are houses / II. सभी ּהभं घर ह╒

Only conclusion I follows / केवल िनתष└ I िनकलता है

Only conclusion II follows / केवल िनתष└ II िनकलता है

Both conclusion I and II follows / दोनो ंिनתष└ I और II िनकलत ेह╒

None of the conclusion I or II follows / िनתष└ I या II म┼ स ेकोई  नहीं
िनकलता है

Correct Answer :­Only conclusion II follows / केवल िनתष└ II िनकलता ह ै

25)

Question Stimulus :­

The jumbled letters of words are given below. Each letter has been numbered. Choose the
option which gives the correct order of the letters as indicated by the

numbers to form meaningful word. / शоो ंके अיवεэथत अāर नीच ेिदय ेगय ेह╒| ▀έके अāर को सġंािकत
िकया गया ह|ै वह िवकֽ चिुनय ेजो साथ└क शо की रचना के िलय ेसġंाओ ंके

╜प म┼ अāरो ंका सही ╡म दतेा ह|ै

T L E M N A

1 2 3 4 5 6

 

2,6,4,5,3,1

3,2,4,6,5,1

4,3,5,1,6,2

5,3,2,4,6,1

Correct Answer :­4,3,5,1,6,2 

26)

Question Stimulus :­



Which one of these states does NOT border Bihar? / इन राǿो ंम┼ स ेएक जो िबहार की सीमा नही ंह।ै

Assam / असम

West Bengal / पिמम बगंाल

Uttar Pradesh / उΟर ▀दशे

Jharkhand / झारखडं

Correct Answer :­Assam / असम 

27)

Question Stimulus :­

Following are the three positions of a cube. / िनђ घन की तीन εэथितया ंह╒

What is the name in the face opposite to the face having name JIM? / JIM नाम
वाल ेफलक के िवपरीत फलक पर ℓा नाम ह?ै 

TOM

RON

MEL

JACK

Correct Answer :­MEL 

28)

Question Stimulus :­



Poin촀딀ng to Jane, Aus촀딀n said, “This lady is the daughter of the woman who is the mother of my father.” How is Jane related
to Aus촀딀n? / जने की ओर इशारा करत े╟ए, ऑּדने न ेकहा, "यह मिहला उस औरत की बटेी ह ैजो मरेे िपता की मा ंह╒।" जने
ऑεּדन स ेकैस ेसबंिंधत ह?ै

Niece / भतीजी

Aunt / बआु

Cousin / चचरेी बहन

Real sister / सगी बहन

Correct Answer :­Aunt / बआु 

29)

Question Stimulus :­

A and B are planning to meet each other after office. A can leave office between 5:30 to
6:00 while B can leave office only after 6:00. A takes 1 hour by bus or 30 mins by cab to
reach the meeting point whereas B takes 30 min by bus and 15 min by cab to reach the
same. / A और B काया└लय के बाद एक दूसरे स ेिमलन ेकी योजना बना रह ेह╒। A 6:00 और 5:30 बज ेके बीच काया└लय
छोड़ सकता ह ैजबिक B केवल 6:00 बज ेके बाद काया└लय छोड़ सकता ह।ै A को गतंי эथान तक बस स ेप╟चंन ेम┼ 1 घटंा
लगता ह ैया 30 िमनट टċैी स ेलगता ह ैजबिक B को वही ंप╟चँन ेम┼ 30 िमनट बस स ेऔर 15 िमनट टċैी स ेलगता ह।ै

If A knows that B is leaving at 6:30 and will be taking a Cab, how late can he start and what conveyance should he take that
he is just on 촀딀me? / यिद A जानता ह ैिक B 6.30 बज ेकाया└लय स ेिनकल जायगेा और टċैी का उपयोग करेगा, A िकतनी दरे से
िनकल सकता ह ैऔर उस ेकौन सा वाहन लनेा चािहए िक वह िमलन ेके эथान पर समय प ेप╟चं जाए?

5:30, Bus / 5:30, बस

5:45, Bus /5:45,  बस

6:00, Bus / 6:00, बस

6:00, Cab / 6:00, टċैी

Correct Answer :­5:45, Bus /5:45,  बस 

30)

Question Stimulus :­

The horn of a rhinoceros is a / ग╒डा के सीगं है

modified tooth / सशंोिधत दातं

modified bone / सशंोिधत दातं

modified hair / सशंोिधत बाल



none of these / इनम ेस ेकोई नहीं

Correct Answer :­modified hair / सशंोिधत बाल 

31)

Question Stimulus :­

The minimum educa촀딀onal qualifica촀딀on to contest for the post of member of Parliament in India is / ससंद के सदּק के
पद के िलए चनुाव लड़न ेके िलए भारत म┼ Рनूतम शिैāक योĶता है

Graduate / ּלातक

Post Graduate / ּלातकोΟर

SSLC or its equivalent / एसएसएलसी या इसके समकā

None of these  / इनम ेस ेकोई नहीं

Correct Answer :­None of these  / इनम ेस ेकोई नही ं

32)

Question Stimulus :­

Which Article empowers the President to dissolve the Lok Sabha at any time before its tenure? / कौनसा अनŜुदे
राױ├पित को काय└काल के पहल ेिकसी भी समय लोकसभा को भगं करन ेका अिधकार दतेा ह?ै

Article 95 / अनŜुदे 95

Article 75 / अनŜुदे 75

Article 85 / अनŜुदे 85

Article 65 / अनŜुदे 65

Correct Answer :­Article 85 / अनŜुदे 85 

33)

Question Stimulus :­

Which of the following districts of Madhya Pradesh shares its borders with 2 other states?/ मЄ ▀दशे के िनђ
िजलो ंम┼ स ेकौन सा िजला 2 अР राǿो ंके साथ अपनी सीमाओ ंका साझा करता ह?ै

Alirajpur / अलीराजपरु

Guna / गनुा

Chhatarpur / छतरपरु



Anuppur / अनपुपरु

Correct Answer :­Alirajpur / अलीराजपरु 

34)

Question Stimulus :­

In the following question, there is certain relationship between the first two terms. Choose
the fourth term from the following options which has a similar kind of relation with the
third term. / िनђ ▀ע म┼, पहल ेतो पदो ंके बीच िकसी ▀कार स ेकोई सबंधं ह|ै िनђ िवकֽो ंम┼ स ेचौथा पद चिुनये
िजसका तीसरे पद के साथ उसी ▀कार का सबंधं ह|ै

LXNU : NYPV :: QTBR : ?

SDSU

RSUD

SUDS

SRUD

Correct Answer :­SUDS 

35)

Question Stimulus :­

1. Six flats on a floor in two rows facing north and south are allotted to P, Q, R, S, T and U.
/ 1. एक मिंजल पर उΟर और दिāण की ओर वाली दो पεं♣यो ंके छः က�लटै P,Q,R,S,T और U म┼ आबिंटत िकए गय ेह╒।

2. Q gets a north facing flat and is not next to S. / 2. Q को उΟर की ओर का က�लटै िमला, और S के बगल
म┼ नही ंह।ै

3. S and U get diagonally opposite flats. / 3. S और U को िवकण└त: सњखु က�लटै िमल।े

4. R next to U gets a south facing flat and T gets north facing flat. /4.  R जो U के बगल म┼ ह,ै को
दिāण िदशा की ओर का က�लटै िमला और T को उΟर की ओर वाला က�लटै िमला।

Whose flat is between Q and S? / िकसका က�लटै Q और S के बीच ह?ै 

T

U

R

P

Correct Answer :­T 



36)

Question Stimulus :­

Select the option that is true about the Statements and Conclusions given: / वह िवकֽ चिुनए
जो िदए गए कथनो ंएव ंिनתष╗ के बारे म┼ सही ह।ै

Statements:  / कथन:

All labels are stickers  /   सभी िवŵापन नाम­प╨ ह╒

All papers are labels  /  सभी कागज िवŵापन ह╒

Conclusions:  /  िनתष└:

I. All papers are stickers    / I.  सभी कागज नाम­प╨ ह╒

II. All stickers are labels / II.  सभी नाम­प╨ िवŵापन ह╒

Only conclusion I follows / केवल िनתष└ I िनकलता है

Only conclusion II follows / केवल िनתष└ II िनकलता है

Both conclusion I and II follows / दोनो ंिनתष└ I और II िनकलत ेह╒

None of the conclusion I or II follows / िनתष└ I या II म┼ स ेकोई  नहीं
िनकलता है

Correct Answer :­Only conclusion I follows / केवल िनתष└ I िनकलता ह ै

37)

Question Stimulus :­

How many combinations of two digit number having 8 can be made from the following
numbers? / िनђ सġंाओ ंम┼ स ेदो अकंो ंकी सġंाओ ंके िकतन ेसयंोजन बन सकत ेह╒ िजनम┼ 8 होगा?   8,5,2,1,7,6

9

10

11

12

Correct Answer :­11 

38)

Question Stimulus :­



Select the option, which is the logical equivalent of the statement given below: / वह िवकֽ
चिुनए,जो तक└ की ۴िױ स ेनीच ेिदए गए कथन के समान ह ै:

It is not true that both Alexander and Hitler are dictators / यह सέ नही ंह ैिक एलĦे┼डर और िहटलर
दोनो ंअिधनायक ह╒।

Alexander is a dictator and Hitler is a dictator. / एलĦे┼डर एक अिधनायक ह ैऔर िहटलर एक
अिधनायक ह।ै

Alexander is not a dictator or Hitler is not a dictator. / एलĦे┼डर एक अिधनायक नही ंह ैया
िहटलर एक अिधनायक नही ंह।ै

Alexander is a dictator and Hitler is not a dictator. / एलĦे┼डर एक अिधनायक ह ैऔर िहटलर
एक अिधनायक नही ंह।ै

Alexander is not a dictator and Hitler is not a dictator. / एलĦे┼डर एक अिधनायक नही ंह ैऔर
िहटलर एक अिधनायक नही ंह।ै

Correct Answer :­Alexander is not a dictator or Hitler is not a dictator. / एलĦे┼डर एक
अिधनायक नही ंह ैया िहटलर एक अिधनायक नही ंह।ै 

39)

Question Stimulus :­

Which one of the following na촀딀onal parks belongs to Madhya Pradesh? / िनђिलεखत म┼ स ेकौन सा राױ├ीय उϋान
मЄ ▀दशे के अतंग└त आता ह?ै

Keoladeo National Park / केवलादवे राױ├ीय उϋान

Madhav National Park / माधव राױ├ीय उϋान

Bandipur National Park / बГीपरु राױ├ीय उϋान

Sanjay Gandhi National Park / सजंय गाधँी राױ├ीय उϋान

Correct Answer :­Madhav National Park / माधव राױ├ीय उϋान 

40)

Question Stimulus :­

Six friends A, B, C, D, E and F are sitting in a closed circle facing the centre. E is to the left
of D. C is between A and B. F is between E and A. / छह िम╨ A,B,C,D,E और F क┼╪ की ओर मखु िकए
╟ए बदं वΟृ म┼ बठैे ह╒। E, D के बायी ंओर ह।ै C, A और B के बीच म┼ ह।ै F, E और A के बीच म┼ ह।ै

Who is sitting third to the left of A? / A के बाय┼ ओर तीसरे ╡म म┼ कौन बठैा ह?ै

C



B

D

E

Correct Answer :­D 

Topic:­ Mental Ability and Mental Aptitude
1)

Question Stimulus :­

Complete the series choosing the missing number: / िवलЧु सġंा चनुकर ▓खंला को परूा कीिजए :

1,2,5,10,17,26,_______

35

37

36

38

Correct Answer :­37 

2)

Question Stimulus :­

Find the value of n C(n‐1) / C(n‐1) का मान िनकािलये

n‐1

0

1

n

Correct Answer :­n 

3)

Question Stimulus :­

The word MISTAKE is coded as 9765412 and NAKED as 84123. Using the same code, write
DISTANT. / एक साकंेितक भाषा का ▀योग करत े╟ए शо MISTAKE को 9765412 के ╜प म┼ एव ं NAKED को
84123 के ╜प म┼ िलखा गया ह|ै समान सकंेत का ▀योग करत े╟ए DISTANT िलख┼|



4798165

3697185

3765485

4768296

Correct Answer :­3765485 

4)

Question Stimulus :­

The probability of ge⼀⸀ng a tail in tossing of a coin is / एक िस☺ा उछालन ेम┼ पट आन ेकी सभंावना ह:ै

1/3

1/2

1/4

1/5

Correct Answer :­1/2 

5)

Question Stimulus :­

The series given below contains a sequence of alphabets, numbers and symbols. Identify
the incorrect combination: / नीच ेदी गई ▓खंला अāरो ंएव ंसġंाओ ंका अन╡ुम ▀योग करती ह|ै गलत सयंोजन
पहचािनय|े

 

(i) bc6r0x&dfqw7       

(ii) bc6r0x&dfdw7      

(iii) bc6r0x&dfqw7     

(iv) bc6r0x&dfqw7

i

ii

iii

iv



Correct Answer :­ii 

6)

Question Stimulus :­

In an examination, 36% of the students failed in English and 40% failed in Hindi. If 20%
of the students failed in both subjects, then the pass percentage is/ एक पδरāा  म┼,  36% छा╨
अ╣ंज़ेी म┼ अनΟुीण└ ╟ए और 40% िहГी म┼ अनΟुीण└ ╟ए। यिद 20% छा╨ दोनो ंिवषयो ंम┼ अनΟुीण└ होत ेह╒, तो उΟीण└
▀ितशतता होगी

40%

42%

44%

46%

Correct Answer :­44% 

7)

Question Stimulus :­

A train 125 m long is running with a speed of 45km/hr. In what 촀딀me will it pass a man who is running at 5km/hr in the
opposite direc촀딀on in which the train is running?/ 120 मी लѕी एक ट├ेन 65 िकमी/घटंा की गित स ेचल रही ह।ै िजस िदशा
म┼ ट├ेन चल रही ह ैउसके िवपरीत िदशा म┼ 5िकमी/घटंा की गित स ेदौड़ रह ेएक आदमी को पार करन ेम┼ ट├ेन को िकतना
समय लगगेा?

8 sec/ 8 सकेंड

10 sec/ 10 सकेंड

9 sec/ 9 सकेंड

12 sec/ 12 सकेंड

Correct Answer :­9 sec/ 9 सकेंड 

8)

Question Stimulus :­

A and B together can complete a work in 6 days. If A alone can do the same work in 15 days, in how many days
can B alone complete that work? / A और B साथ म┼ एक काम को 6 िदनो ंम┼ परूा कर सकत ेह╒। यिद A उस कम को
15 िदनो ंम┼ कर सकता ह,ै तो B अकेल ेउस काम को िकतन ेिदनो ंम┼ परूा कर सकता ह?ै

8 days / 8 िदन



10 days / 10 िदन

12 days / 12 िदन

9 days / 9 िदन

Correct Answer :­8 days / 8 िदन 

9)

Question Stimulus :­

The average price of gold during last year was Rs. 1120 per gram. The average in the first five months was Rs. 1105. In
the next three months, the average was Rs. 1125. What was the average price in the remaining months? / गत वष└ के
दौरान, सोन ेकी औसत मूׂ  1120 ╛पय े▀ित ╣ाम थी| पहल ेपाचँ महीनो ंम┼ औसत 1105 ╛पय ेथी| अगल ेतीन महीनो ंम┼
औसत 1125 ╛पय ेथी| शषे महीनो ंम┼ औसत मूׂ  ℓा थी?

Rs. 1137.50

Rs.  1140

Rs. 1135

Rs. 1130

Correct Answer :­Rs. 1135 

10)

Question Stimulus :­

In a code, NATURE wriⰀ⬀en as MASUQE. How is FAMINE wriⰀ⬀en in that code? / एक सकंेत म┼, NATURE को MASUQE
िलखत ेह╒। उसी सकंेत म┼ FAMINE को कैस ेिलख┼ग?े

FBMJND

FZMHND

GANIOE

EALIME

Correct Answer :­EALIME 

11)

Question Stimulus :­

Complete the following sequence of figures. / आकृितयो ंके िनђ ╡म को परूा कीिजय:े



Correct Answer :­  

12)

Question Stimulus :­

Complete the series choosing the missing letter/s: / िवलЧु अāर चनुकर ▓खंला को परूा कीिजए :

aa _ ab _ aab _ aab _ babbb  _

aabbb

aaabb

abbba

abbbb

Correct Answer :­aabbb 

13)

Question Stimulus :­



672/6+(45/3)/(5/9)‐(840/120)+13x4=?

184

174

160

182

Correct Answer :­184 

14)

Question Stimulus :­

436A X 232 = 10B2D80 where A, B, D are represen촀딀ng a numeral, what is the value of B? / 436A X 232 = 10B2D80 जहां
A, B, D सġंाकं ह╒, तब B का ℓा मान ह?ै

1

3

7

0

Correct Answer :­1 

15)

Question Stimulus :­

In a school,  of the children are boys. If the numbers of girl is 200.Find the number of

boys? / एक िवϋालय म┼,  बŗ ेलड़के ह╒| यिद लड़िकयो ंकी सġंा 200 ह,ै तो लड़को की सġंा िनकािलए?

900

700

600

800

Correct Answer :­800 

16)



Question Stimulus :­

If PAPER is coded as QCSIW  then PROGRAM is coded as / यिद PAPER को QCSIW स ेकोिडत िकया
जाता ह ैतो PROGRAM को ऐस ेकोिडत िकया जायगेा

QSPHSBN

QTRKWGT

QTRKWTG

QWTRKGT

Correct Answer :­QTRKWGT 

17)

Question Stimulus :­

The average of first 20 multiples of 7 is? / 7 के पहल े20 ब╟गणुो ंका औसत ह?ै

73.5

73

74.5

74

Correct Answer :­73.5 

18)

Question Stimulus :­

In a certain code language  CRICKET is coded as BQHBJDS then in that language
BASKETBALL is coded as: / िकसी खास कोड भाषा म┼, CRICKET को BQHBJDS स ेकोिडत िकया जाता ह ैतो
उस भाषा म┼ BASKETBALL को ऐस ेकोिडत िकया जायगेा:

AZRJFSAZKK

AZTJDSAZKK

AZRJDUAZKK

AZRJDSAZKK

Correct Answer :­AZRJDSAZKK 

19)



Question Stimulus :­

A person spends 75% of his salary. His salary is increased by 20% and he increased his
expenditure by 10%. Find the percentage increase in his savings?/ एक יε♣ अपन े वतेन का
75% खच└ करता ह।ै उसके वतेन म┼ 20% की बढ़ोतरी ╟ई और उसन ेअपन ेखच╗ को 10% बढ़ा िदया। उसकी बचत म┼
बढ़ोतरी की ▀ितशतता ŵात कर┼?

30%

40%

50%

60%

Correct Answer :­50% 

20)

Question Stimulus :­

If the ratio of the area of two squares is 4:9, then what is the ratio of their perimeters?
/ अगर दो वगा└कार के ā╨े का अनपुात 4:9 ह ैतो उनके पδरमाप का अनपुात ℓा ह?ै

4:1

2:3

6:5

None / कोई नहीं

Correct Answer :­2:3 

21)

Question Stimulus :­

The value of x in equation 2x­3/x=5 is / समीकरण 2x­3/x=5 म┼ x का मान है

­ ½ , 3

2,3

0,1

1,1

Correct Answer :­­ ½ , 3 



22)

Question Stimulus :­

Complete the series choosing the missing leⰀ⬀er/s: / िवलЧु अāर चनुकर ▓खंला को परूा कीिजए :

ab _ dd _ baa _ cd _ c _ a

bdbcc

ccbbd

cabdb

ccbdb

Correct Answer :­ccbdb 

23)

Question Stimulus :­

The distance between A and B is 52 km. A car starts from A at 3 pm and travels towards B
at 72 km/hr. Another car starts from B at 5 pm and travels towards A at 80 km / hr. At
what time do they meet?/ A और B के बीच की दूरी ह ै52 िकमी। एक कार दोपहर 3 बज ेA स ेश╜ु होकर B की
ओर 72 िकमी/घटंा की गित स ेचलती ह।ै एक दूसरी कार शाम 5 बज े B स ेश╜ु होकर A की ओर 80 िकमी/घटंा की गित
स ेचलती ह।ै व ेिकस समय पर िमलती ह╒?

8 pm/ रात 8 बजे

8:30 pm/ रात  8:30 बजे

9 pm/ रात 9 बजे

9:30 pm/ रात 9:30 बजे

Correct Answer :­9 pm/ रात 9 बज े

24)

Question Stimulus :­

A refrigerator is available for Rs. 14168 including sales tax. If the rate of sales tax is 12%. Find the
marked price of the refrigerator? / एक रेि▄जरेटर 14168 ╛पय ेम┼ िब╡ी कर सिहत उपलп ह।ै िब╡ी कर की दर
12% ह।ै रेि▄जरेटर की िचिֿכत कीमत का पता लगाएं?

Rs.12650 / ╜पए 12650

Rs.13650 / ╜पए 13650

Rs.14650 / ╜पए 14650



Rs.15650 / ╜पए 15650

Correct Answer :­Rs.12650 / ╜पए 12650 

25)

Question Stimulus :­

There are four alternatives for the following question. Find out the correct one. / िनђ ▀ע के
िलए चार िवकֽ ह╒| सही वाला चिुनए|

i. ‘Quo Cui Heer’ means ‘Boy is Good’ / ‘Quo Cui Heer’ का मतलब ह ै‘Boy is Good’

ii. ‘Lai Quo Mea’ means ‘Meena is fair’ / ‘Lai Quo Mea’ का मतलब ह‘ै Meena is fair’

iii. ‘Ruo Lev Mea’ means’ ‘All are Fair’ / ‘Ruo Lev Mea’ का मतलब ह ै‘All are Fair’

iv. ‘Si Hai Cui’ means ‘Dog was good’ / ‘Si Hai Cui’ का मतलब ह ै‘Dog was good’

 

Which of the following encryptions stands for Mea? / िनђ एεپ╡पशनो ंम┼ स ेMea के िलए कौन सा ह?ै

Boy

Meena

Fair

Good

Correct Answer :­Fair 

26)

Question Stimulus :­

In the following question, one term in the number series is wrong. Find out the wrong
term. / िनђ ▀ע म┼, सġंा ▓खंला म┼ एक पद गलत ह|ै गलत पद ŵात कीिजय|े  

34,28,22,18,10,4

28

22

10

18

Correct Answer :­18 



27)

Question Stimulus :­

Complete the series choosing the missing number: / िवलЧु सġंा चनुकर ▓खंला को परूा कीिजए :

7,12,19,_______,39

29

28

26

24

Correct Answer :­28 

28)

Question Stimulus :­

When the price of radio was reduced by 20% the sale increased by 80%. What was the net effect on
sale? / जब रेिडयो की कीमत 20% कम हो गयी तब 80% स ेिब╡ी म┼ वεृο ╟ई ह।ै िब╡ी पर कुल ▀भाव ℓा था?

44% increase / 44%  वεृο

44% decrease / 44%  कमी

66% increase / 66%  वεृο

75% increase / 75%  वεृο

Correct Answer :­44% increase / 44%  वεृο 

29)

Question Stimulus :­

Which one of the following four addresses is NOT EXACTLY the same as the one given
below? / िनђ िदय┼ गय ेचार पतो ंम┼ स ेनीच ेिदय ेगय ेपत ेके ठीक समान कौन सा एक नही ंह?ै   

 

Pacific Rim Adventure Expeditions (PRAE)

3009 E Kaiser Drive

Santa Clara, California 95051­4734

(408) 296­8444

 



(i) Pacific Rim Adventure Expeditions (PRAE)

3009 E Kaiser Drive

Santa Clara, California 95051­4734

(408) 296­8444

 

(ii) Pacific Rim Adventure Expeditions (PRAE)

3009 E Kaiser Drive

Santa Clara, California 95051­4734

(408) 296­8444

 

(iii) Pacific Rim Adventure Expeditions (PRAE)

3009 E Kaiser Drive

Santa Clara, Califronia 95051­4734

(408) 296­8444

 

(iv) Pacific Rim Adventure Expeditions (PRAE)

3009 E Kaiser Drive

Santa Clara, California 95051­4734

(408) 296­8444

i

ii

iii

iv

Correct Answer :­iii 

30)

Question Stimulus :­

How many rectangles are there in this figure? / िनђ आकृित म┼ िकतन ेआयत ह╒?



10

4

6

11

Correct Answer :­11 

Topic:­ Science and Simple Arithmetic
1)

Question Stimulus :­

The crop that is grown in rainy season &requires lot of water is / फसल जो बाδरश के मौसम म┼ उगाई जाती ह ैऔर
िजस ेब╟त सारे पानी की आवפकता होती है

Wheat / ग╠ेँ

CoⰀ⬀on / ╜ई

Mustard / सरसों

Paddy / धान

Correct Answer :­Paddy / धान 

2)

Question Stimulus :­

After flood, the river bank was found to have a different soil texture. This is due to the accumulation of a large
amount of_______ / बाढ़ के बाद नदी का िकनारा अलग मदृा की बनावट म┼ पाया गया। यह अिधक मा╨ा म┼ िकसके
स╣ंहण के कारण ╟आ?

Sand / बालू

Silt / गाद

Clay / िचकनी मदृा



Rotten leaves / सड़ी ╟ई पिΟयां

Correct Answer :­Silt / गाद 

3)

Question Stimulus :­

Eucalyptus trees are planted along the sides of sewage ponds. This is because / नीलिगरी के पड़े वािहतमल तालाबों
के दोनो ंिदशाओ ंम┼ लगाएं जात ेह╒। ऐसा इसिलए ह ैℓोिंक

They reduce the foul odour in the air / व ेवाय ुम┼ दूिषत गधं को कम करत ेह╒

They absorb carbon dioxide from the sewage / व ेवािहतमल स ेकाब└न डाइऑċाइड का अवशोषण कर लते ेह╒

They absorb waste water and release it as pure water vapour into the air / भ♣ुशषे जल का अवशोषण कर
वाय ुम┼ शοु जलवाТ को िनम└ु♣ करत ेह╒

They provide shade to sewage ponds / वािहतमल तालाबो ंको छाया ▀दान करत ेह╒

Correct Answer :­They absorb waste water and release it as pure water vapour into the air / भ♣ुशषे जल
का अवशोषण कर वाय ुम┼ शοु जलवाТ को िनम└ु♣ करत ेह╒ 

4)

Question Stimulus :­

Some potted plants cannot withstand over watering. Give reason / कुछ गमल ेके पौध ेअिधक पानी सहन नही ंकर
सकत।े कारण दीिजए

Leaves will turn yellow / पिΟया ँपीली पड़ जाएंगी

Water will be wasted / पानी बबा└द हो जाएगा

Roots may overgrow to break the pot / जड़┼ ّादा उग कर गमल ेको तोड़ सकती ह╒

Roots cannot respire as they get drowned / पानी म┼ ّादा डूबी होन ेके कारण जड़┼ सासँ नही ंल ेसकती ह╒

Correct Answer :­Roots cannot respire as they get drowned / पानी म┼ ّादा डूबी होन ेके कारण जड़┼ सासँ
नही ंल ेसकती ह╒ 

5)

Question Stimulus :­

The main constituents of soil are / मदृा के मġु सघंटक ह╒

Air and water / वाय ुऔर जल

Water and plants / जल और पौधे



Rock par촀딀cles and humus / शलै कण और हयमूस

Air and plants / वाय ुऔर पौधे

Correct Answer :­Rock par촀딀cles and humus / शलै कण और हयमूस 

6)

Question Stimulus :­

One of the following forces is used by animals to carry out physical ac촀딀vi촀딀es / िनђ म┼ स ेएक बल जानवरो ंύारा
शारीδरक ि╡याओ ंको करन ेम┼ ▀योग िकया जाता है

Electrosta촀딀c Force / εэथर वदै्युत बल

Magne촀딀c force / चुंबकीय बल

Gravita촀딀onal force / ग╛ुβीय बल

Muscular force / पशेीय बल

Correct Answer :­Muscular force / पशेीय बल 

7)

Question Stimulus :­

Read the following table carefully and answer the questions given below. The table given
below contains the average Marks obtained by 20 Boys and 20 Girls in Five Subjects from
five different Schools. / िनђ तािलका को Єान स ेपढ़┼ और सवालो ंका जवाब द┼। नीच ेदी गई तािलका म┼ पाचं िविभК
लो ंस ेपाचं िवषयो ंम┼ 20 लड़को ंऔर 20 लड़िकयो ंύारा ▀ाЧ औसत अकं शािमल ह।ैאַू

 



 

 

What was the difference between the total marks obtained in mathema촀딀cs by boys from school R and the girls from school
S? / िवϋालय R के लड़को ंύारा ▀ाЧ गिणत के कुल अकंो ंऔर िवϋालय S की लड़िकयो ंके ύारा ▀ाЧ गिणत के कुल अकंो ंम┼



िकतना अतंर था?

800

1100

100

1200

Correct Answer :­1100 

8)

Question Stimulus :­

When we rub a glass rod with silk, / जब हम ĸास रोड को िस№ के साथ रगड़त ेह╒

Glass gets nega촀딀vely charged / ĸास ऋणआवशेी हो जाता है

Glass gets posi촀딀vely charged / ĸास धनआवशेी हो जाता है

Silk gets nega촀딀vely charged / िस№ ऋणआवशेी हो जाता है

Glass gets posi촀딀vely charged & silk gets nega촀딀vely charged / ĸास धनआवशेी हो जाता ह ैऔर िस№
ऋणआवशेी हो जाता है

Correct Answer :­Glass gets posi촀딀vely charged & silk gets nega촀딀vely charged / ĸास धनआवशेी हो जाता है
और िस№ ऋणआवशेी हो जाता ह ै

9)

Question Stimulus :­

Which one of the following is an example of a rough surface / िनђिलεखत म┼ स ेकौन एक ╜ā पृ״ का उदाहरण है
:

Glazed 촀딀les / चमकदार टाइल

plane mirror / समतल दप└ण

Oily surface / तलेीय पृ״

Soles of the shoes / जतूो ंके सोल

Correct Answer :­Soles of the shoes / जतूो ंके सोल 

10)

Question Stimulus :­



Read the following table carefully and answer the questions given below. The table given
below contains the average Marks obtained by 20 Boys and 20 Girls in Five Subjects from
five different Schools. / िनђ तािलका को Єान स ेपढ़┼ और सवालो ंका जवाब द┼। नीच ेदी गई तािलका म┼ पाचं िविभК
लो ंस ेपाचं िवषयो ंम┼ 20 लड़को ंऔर 20 लड़िकयो ंύारा ▀ाЧ औसत अकं शािमल ह।ैאַू

 

 



The pooled average marks of both boys and girls in all the subjects was minimum from which of the following schools? /
सभी िवषयो ंम┼ दोनो ंलड़को ंऔर लड़िकयो ंन ेिकस िवϋालय म┼ Рनूतम औसत अकं ▀ाЧ िकय?े

Q

 P

T

S

Correct Answer :­S 

11)

Question Stimulus :­

The green leaves and also green young stem prepare food by capturing energy of the sunlight along with carbon
dioxide and water. This process is called / हरी पिΟया ंऔर हरे यवुा तन ेभी सयू└ ▀काश की ऊजा└ के ▀╣हण ύारा काब└न
डाइऑċाइड और पानी के साथ खाϋ तयैार करत ेह╒। यह ▀ि╡या कहलाती है

Autotrophic nutri촀딀on. / ּתपोिषत पोषण

Heterotrophic nutri촀딀on. / परपोिषत पोषण

Saprophy촀딀c nutri촀딀on. / मतृजीवी पोषण

Photosynthesis. / ▀काश संצषेण



Correct Answer :­Photosynthesis. / ▀काश संצषेण 

12)

Question Stimulus :­

Wind currents are generated due to / वाय ुधाराएं इसके कारण उतपК होती ह╒

Hea촀딀ng up of air / हवा का गम└ होना

Cooling of air / हवा का शीतल होना

Uneven hea촀딀ng of air on the earth / पκृी पर हवा का असमान गम└ होना

Varia촀딀on in the wind speed / वाय ुके वगे म┼ विैभКय पδरवत└न

Correct Answer :­Uneven hea촀딀ng of air on the earth / पκृी पर हवा का असमान गम└ होना 

13)

Question Stimulus :­

Read the following table carefully and answer the questions given below. The table given
below contains the average Marks obtained by 20 Boys and 20 Girls in Five Subjects from
five different Schools. / िनђ तािलका को Єान स ेपढ़┼ और सवालो ंका जवाब द┼। नीच ेदी गई तािलका म┼ पाचं िविभК
लो ंस ेपाचं िवषयो ंम┼ 20 लड़को ंऔर 20 लड़िकयो ंύारा ▀ाЧ औसत अकं शािमल ह।ैאַू

 



 

 

In case of which of the following schools was the total marks obtained in mathema촀딀cs by girls in Mathema촀딀cs 100% more
than the total marks obtained by boys in History? / िनђिलεखत िवϋालयो ंम┼ िकस िवϋालय की लड़िकयो ंके गिणत म┼ कुल
अकं इितहास म┼ लड़को ंύारा ▀ाЧ िकय ेगए अकंो ंस े100% ّादा ह?ै

 R

S

P

Q

Correct Answer :­S 

14)

Question Stimulus :­

To stretch a bow, an archer applies a force that causes the bow to / धनषु को खीचंन ेके िलय,े एक तीरंदाज़ बल लगाता है
िजसस ेधनषु म┼ यह होता है

Change in shape / आकार म┼ पδरवत└न

Change in density / ससघनता म┼ पδरवत└न



Change in volume / आयतन म┼ पδरवत└न

Change in state of mo촀딀on / गित की अवэथा म┼ पδरवत└न

Correct Answer :­Change in shape / आकार म┼ पδरवत└न 

15)

Question Stimulus :­

When a current carrying wire is placed near a compass, its needle gets deflected because / जब धारा वहन करने
वाल ेएक तार को एक कѓास के पास रखा जाता ह,ै इसकी सईु उसकी ओर घमु जाती ह ैℓोिंक :

The compass is a tiny magnet / कѓास एक छोटा चुंबक है

The current carrying wire behaves as a magnet / धारा वहन करन ेवाला तार चुंबक की तरह יवहार करता है

The current passes through the compass / कѓास के माЄम स ेिवद्युत ्धारा गजुरती ह।ै

The compass gets magnetized / कѓास चѕुकीय हो जाता ह।ै

Correct Answer :­The current carrying wire behaves as a magnet / धारा वहन करन ेवाला तार चुंबक की
तरह יवहार करता ह ै

16)

Question Stimulus :­

Read the following table carefully and answer the questions given below. The table given
below contains the average Marks obtained by 20 Boys and 20 Girls in Five Subjects from
five different Schools. / िनђ तािलका को Єान स ेपढ़┼ और सवालो ंका जवाब द┼। नीच ेदी गई तािलका म┼ पाचं िविभК
लो ंस ेपाचं िवषयो ंम┼ 20 लड़को ंऔर 20 लड़िकयो ंύारा ▀ाЧ औसत अकं शािमल ह।ैאַू

 



 

In which of the following subjects did the girls have highest average percentage of marks from all the schools? / िनђ िवषयों
म┼ स ेिकस म┼ लड़िकयो ंन ेसभी ूַאलो ंस ेअकंो ंके उŗतम औसत ▀ितशत बनाया ह?ै

Science / िवŵान



Geography / भगूोल

English / अ╣ंज़ेी

History / इितहास

Correct Answer :­Science / िवŵान 

17)

Question Stimulus :­

The mathematical expression for calculating speed is / गित की गणना के िलए गिणतीय अिभיε♣ ह ै:

S = D * T

S = D / T

S=  T / D

S = D ­ T

Correct Answer :­S = D / T 

18)

Question Stimulus :­

Read the following table carefully and answer the questions given below. The table given
below contains the average Marks obtained by 20 Boys and 20 Girls in Five Subjects from
five different Schools. / िनђ तािलका को Єान स ेपढ़┼ और सवालो ंका जवाब द┼। नीच ेदी गई तािलका म┼ पाचं िविभК
लो ंस ेपाचं िवषयो ंम┼ 20 लड़को ंऔर 20 लड़िकयो ंύारा ▀ाЧ औसत अकं शािमल ह।ैאַू

 



 

What was the total marks obtained by boys in History from School Q? / Q िवϋालय के लडको ंύारा इितहास म┼ ▀ाЧ िकये
गए कुल अकं ℓा थ┼?

900



1000

800

1300

Correct Answer :­900 

19)

Question Stimulus :­

Which of the food items give blue‐black colour with iodine solu촀딀on? / कौन­सा खाϋ पदाथ└ आयोडीन म┼ घलुकर
नीला­काला रंग दतेा ह?ै

Mustard oil / सरसो ंतले

Palak / पालक

Dhal / दाल

Boiled potato / उबला ╟आ आलू

Correct Answer :­Boiled potato / उबला ╟आ आल ू

20)

Question Stimulus :­

The strength of an electromagnet depends on / एक िवद्युत चुंबक की āमता िनभ└र करती ह ैइसपर :

Strength of current / धारा की ▀बलता

Number of turns in the coil / कुंडली म┼ घमुावो ंकी सġंा

The time for which current is passed / वह समय िजसम┼ धारा ▀वािहत होती है

The direction in which the current flows / िदशा िजसम┼ धारा बहती है

Correct Answer :­Number of turns in the coil / कुंडली म┼ घमुावो ंकी सġंा 

21)

Question Stimulus :­

It is known that 25% of a certain fruit are rotten.  If the number of rotten fruit
is 45, then the total number of fruit is: / यह ŵात ह ैिक एक िनिמत फल का 25% सड़ा ╟आ
ह।ै यिद सड़ े╟ए फलो ंिक सġंा 45 ह,ै तो फलो ंकी कुल सġंा ह:ै

150



175

185

180

Correct Answer :­180 

22)

Question Stimulus :­

Some pears are packed into a box in stacks. Each stack has the same number of pears in each row as the number
of rows. The number of stacks is also the same as the number of rows. If there are 78 stacks of pears in the box,
the total number of pears in the box is ____________ / एक बċ ेम┼ कुछ नाशपाती ढरे के ╜प म┼ पकै ह╒। ▀έके ढरे की
▀έके पεं♣ म┼ नाशपाितयो ंकी सġंा, पε♣यो ंसġंा के समान ह।ै ढरे की सġंा भी पεं♣यो ंकी सġंा के समान ही ह।ै यिद
बċ ेम┼ नाशपाितयो ंके 78 ढरे ह╒, तो बċ ेम┼ नाशपाती की कुल सġंा _________ ह।ै

474265

474556

475433

474552

Correct Answer :­474552 

23)

Question Stimulus :­

Evaluate 2sin 45o cos 45o / 2sin 45o cos 45o  का मुׂ ाकंन कर┼|

2

1

0

Correct Answer :­1 

24)

Question Stimulus :­

In the given figure  ABC ~ APQ.  If AP = 4, PB = 3 and PQ = 5, find BC. / दी गयी

आकृित म┼  ABC ~ APQ ।  यिद AP = 4, PB = 3 और PQ = 5,  BC ŵात करो। 



आकृित म┼  ABC ~ APQ ।  यिद AP = 4, PB = 3 और PQ = 5,  BC ŵात करो। 

8.75

8

10

7.25

Correct Answer :­8.75 

25)

Question Stimulus :­

Find the area of a circle with radius 35 m. / उस वतृ का ā╨ेफल ŵात कीिजए िजसकी ि╨ǿा 35 मीटर ह।ै

220 m2 / 220 मीटर 2

3850 m2 / 3850 मीटर 2

3850 m / 3850 मीटर

440 m2 / 440 मीटर 2

Correct Answer :­3850 m2 / 3850 मीटर 2 

26)

Question Stimulus :­

If the area of a semi­circle is 10 m2, the area of the circle is ________ / यिद िकसी अध└वतृ का
ā╨ेफल 10 मीटर2  ह,ै तो इसके वतृ का ā╨ेफल _____________ ह।ै

5 m2 / 5 मीटर2

10 m2 / 10 मीटर2

20 m2 / 20 मीटर2

15 m2 / 15 मीटर2



Correct Answer :­20 m2 / 20 मीटर2 

27)

Question Stimulus :­

If  and x + y = 1, then x and y are _________ / यिद  और x + y = 1 तो x
और y _________ ह╒।    

x = 2, y = ‐3

x = 2, y = 3

x = ­2, y = 3

x = ­2, y = ­3

Correct Answer :­x = ­2, y = 3 

28)

Question Stimulus :­

Which of the following is a factor of  ? / िनђ म┼ स ेकौन सा 
 का गणुणखडं ह?ै

Correct Answer :­  

29)

Question Stimulus :­

The third propor촀딀onal to (x2 – y2) to (x – y) is : / (x2 – y2) स े(x – y) का ततृीय समानपुाितक ह:ै

x + y



x – y

Correct Answer :­  

30)

Question Stimulus :­

Find the length of the diagonal of a cube, which has a surface area of 1800 m2 / एक घन के िवकण└ की लѕाई ŵात कीिजए,
िजसका पृ״ीय ā╨ेफल 1800 मीटर 2 है

30 m

Correct Answer :­30 m 


